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Cain Simulation Plots
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Plots after Geant simulation
(At Start point)

mcp_start
L_|

v

o

o
|

o
|||1l|||.1

—500 —

—1000 —

111

lentries: 43096]

.--Iln ] 1
"'r'.ﬁ'l

104

3 103

- 102

TTTITTTTTTTITTTT!TTITTTITTTIT
-750 -500 -250 0 250 500 750
x(mm)

101

10°

rimm)

mcp_start

- ||
1600 - | entries: 43096}

15 | | _
1400 — =
1200 —

i o
1000 — =
800 — o

. [
600 .

: o —
400 -

: o o

: { I om =
200 o

| |
. e L
O_H ] 1 11 I 1 71 I lﬂm L I 1T 11 I 1 11 F
-3000 -2000 -1000 O 1000 2000 3000
z(mm)

104

3 103

- 102

101

10°



y(mm)

1.5 -
1.0 -
0.5 —:

0.0 -

-1.0

-1.5

Plots after Geant simulation
(At Start Point excluding simulated
particles)
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Plots after Geant simulation
(At EndPoints)
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BeamCal z>0
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At Beam Calortimeter
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BeamCal axis to ILD axis

before rot BeamCal z>0 before rot BeamCal_z<0
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Apply BeamCal Cut to MCP

Beam Cal outer radius cut
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why does BeamCal distribution do not match with that of mcp? Due to noise?

Apply BeamCal Cut to MCP

why are most particles not from the beam pipe?

why does BeamCal distribution do not match with that of mcp?
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ro(mm)

mcp_endz>3000
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Apply BeamCal Cut to MCP

BeamCal maximum positive value 3315, minimum value 3197

3315>mcp_endz>3197
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Within Beam Cal

3315>mcp_endz>3197
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BeamCal Energy very low

Particles escaping through BeamPipe?
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MCP daughter particle very
low humber (only 77)
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Cain out put need to be
boosted before Geant?
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